—~ 4.000 -
TYP
2o/ DA HOLE - 3.340 - ~—2.000=
6 PLACES e N
/@/ — ®\ — ‘ /Q & Q\ A
I =
® ® . a ©
a A 7 N | k O O J
% %) ( C>§¢%/ \§57<)
3.026 O 8.776
O
% ) (
h . - s O O A
— (@>
@) O -
P o P SIDE VIEW - P
NG J J Y
FRONT VIEW REAR VIEW
4 200 -

INSERT THE SCREWS@ INTO THE 4 HOLES IN THE CORNERS OF THE BOTTOM CASE.
THE CASE TOP MUST BE REMOVED TO OBTAIN ACCESS TO THE HOLES.

“"RITRON" ™

WIRELESS SOLUTIONS

PHILLIPS DRIVE

CONFIDENTIAL INFORMATION #6 LOCK WASHER

&

QIY 4

o—572 HEX NUT
QIY 4

THIS INFORMATION IS CONFIDENTIAL AND PROPRIETARY TO RITRON INC.

T 1S NOT TO BE USED OR DEVULGED TO THE DETRIMENT OF RITRON [INC.
DEVULGEMENT OF THIS INFORMATION [N ANY FORM MUST Bt APPROVED
BY THE PRIOR WRITTEN PERMISSION OF RITRON [INC.

<::>MCMMMNG SRACKET QIY 2

SEAL SCREW, 6—32 X 1/2 LONG, QTY 4

ReFERENCE ONLY

>

AEIS

DIMENSIONS ARE IN INCHES

TOLERANCES ARE:
(EXCEPT AS NOTED)

UNLESS OTHERWISE SPECIFIED

APPROVALS DATE

DRAWN G.KING |05/12/11

RITRON

o005 W. CARMEL DR., CARMEL, IN 46032

INC.

NO3

FRACTIONS

CHECKED

ISSUED

RK—=RQX—=MB

MOUNTING DIAGRAM

DECIMALS

LL/zL/s 43y ¥04 a3
31vd

MATERIAL

ANGLES

FINISH

SIZE | USED ON

EXCEP

DWG NO.

RK=RQX—=MB

REV.

DO NOT SCALE DRAWING

SCALE  4:1

FILE

RK—RQX—=MB.dwqg




218 DIA TYP 4
REFERENCE,SEE NOTE f

(& :
8.888
@ ®
/.014
NQTE

1—THE MOUNTING HOLE DIA REQUIRED TO MOUNT THE CALLBOX,DEFPENDS ON THE

ACCURACY OF THE MOUNTING HCLE LOCATIONS.
IF THE HOLE DIAMETERS GET TO BIG TO PROVIDE ADEQUATE MATERIAL FOR THE

FASTENER HEAD TO CLAMP AGAINST,THEN A LARGER DIAMETER FLAT WASHER
SHOULD BE USED TO CLAMP THE CALLBOX AGAINST THE MOUNTING SURFACE.
THE MOUNTING HOLES ARE CLEARANCE HOLES FOR #10—32 SCREWS.

THE MAXIMUM SCREW INSERTION DEPTH INTQ THE CASE IS 5/16

9|72 [oNEonn e aea® | APPROVALS RITRON INC,
g 505 W. CARMEL DR., CARMEL, IN 48032
[TOLERANCES ARE: CALLBOX—=XT MOUNTING

g BB [eow HOLE PATTERN

B
3 WZE U0 N TWE ND. REV.
i D REFERENCE DWG| B
gg g | BT ﬁ?{smmwmx-xrwmqmm sweEr 1 OF 1




——

——.350

e — 347 DIA
! d
6105@@ DIA
1.725 1162 gbs L=~
I + o230 DIA
240 TAB DIMENSIONS

- ARV

A

17.456 119 211

Vali
.

/.014

9.082

CONFIDENTIAL INFORMATION

THIS INFORMATION IS CONFIDENTIAL AND PROPRIETARY TO RITRON INC.
IT IS NOT TO BE USED OR DEVULGED TO THE DETRIMENT OF RITRON INC.
DEVULGEMENT OF THIS INFORMATION IN ANY FORM MUST BE APPROVED
BY THE PRIOR WRITTEN PERMISSION OF RITRON INC.

RQX—=XT MOUNTING TAE
QUANTITY FOUR PER ASSEMBLY

#10—-32 X 437 LONG

SLOTTED PAN HEAD SCREW
QUANTITY FOUR PER ASSEMBLY

\_
b/

4.428

-RONT ViE

-0

R R

- R

- NCE

ONLY

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES

:

N33

TOLERANCES ARE:
(EXCEPT AS NOTED)

APPROVALS

DATE

DRAWN G-KING

5/6/11

RITRON [INC.

505 W. CARMEL DR., CARMEL, IN 46032

CHECKED

FRACTIONS

ISSUED

XT MOUNTING TABS INSTALLED

DECIMALS

LL/9/% 434 Me4 a3 N

3iva

MATERIAL

ANGLES

SIZE | pwe No. REV.
D XT MOUNTING TABS INSTALLED A

DO NOT SCALE DRAWING

ILE NO,
ScALE XX XT MOUNTING TABS INSTALLED.DWG




I
I
12.0//7 9.4/4
REF Ror
|
|

- | ViE

-RONT VI

S

10.9//

J

-
o - g

O3 | =

5.000
REF

CONFIDENTIAL INFORMATION

THIS INFORMATION IS CONFIDENTIAL AND PROPRIETARY TO RITRON INC.

IT IS NOT TO BE USED OR DEVULGED TO THE DETRIMENT OF RITRON INC.
DEVULGEMENT OF THIS INFORMATION IN ANY FORM MUST BE APPROVED
BY THE PRIOR WRITTEN PERMISSION OF RITRON INC.

—1. /50—

SLOT FOR 5/16 MAX DIAMETER MOUNTING SCREW
2 PLACES

- 4.295 -

~REF

<:>RQX—XTMK MOUNTING PLATE

#10-32 X 500 LONG

SECURITY HEAD T-25 TORX SCREW
QUANTITY FOUR PER ASSEMBLY

FOR R

-

- R

- NC

ONLY

>

‘A3

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES

:

N33

TOLERANCES ARE:
(EXCEPT AS NOTED)

APPROVALS

DATE

DRAWN G-KING

5/6/11

RITRON [INC.

505 W. CARMEL DR., CARMEL, IN 46032

CHECKED

LL/9/% 434 Me4 a3 N
31vad

ISSUED

RQX—=XTMK
XT FLUSH MOUNT PLATE MOUNTING

MATERIAL

SIZE |USED ON

FINISH

D

DWG NQ.

RQX—=XTMK

REV.
A

DO NOT SCALE DRAWING SCALE  X:X

FILE NO.

rax-xtvkowe | SHEeT 1 OF

1




+ 312 DIA
™ —.125 R TYP
535 )i
% +
DETAIL B 580 D‘A

SEE DETAIL B | [
1 125 DIA A28 DIA TYP 4 D -
P 156 R TYP % y
SEE DETAIL A
3. 245 DIA 11.456 - KJF O
5.5/ DIA ' ~ K
9.2 y
D |
-
./ 1/ - _
DETAIL A g g
\_ ~/
A 28
' ' L I\ J S
— 4./797 -
- 9.087

WIRELESS SOLUTIONS

CONFIDENTIAL INFORMATION

THIS INFORMATION IS CONFIDENTIAL AND PROPRIETARY TO RITRON INC.

IT IS NOT TO BE USED OR DEVULGED TO THE DETRIMENT OF RITRON INC.
DEVULGEMENT OF THIS INFORMATION IN ANY FORM MUST BE APPROVED
BY THE PRIOR WRITTEN PERMISSION OF RITRON INC.

REAR VI

N 7
\W@ ;s
] l_/

@ RQX=XTMK—=GN MOUNTING FLATE

#10-32 X 500 LONG

SECURITY HEAD =20 TORX SCREW
QUANTITY FOUR PER ASSEMBLY

ViE

FOR ~LC

0.205

- R

- NCE

ONLY

N33

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

(EXCEPT AS NOTED)

APPROVALS

DATE

DRAWN G-KING

5/6/11

RITRON [INC.

505 W. CARMEL DR., CARMEL, IN 46032

FRACTIONS

CHECKED

LL/9/% 434 Me4 a3

3iva

DECIMALS

ISSUED

RQX—=XTMK—=GN
XT GOOSE NECK PLATE MOUNTING

MATERIAL

ANGLES

FINISH

SIZE |USED ON DWG NQ. REV.

D RAQX—=XTMK—=GCGN | A

DO NOT SCALE DRAWING

FILE NO. sieer 1 OF 1

SCALE X:X RQX—XTMK—GN.DWG




